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100m
1 &M 112 6 6+2+4 6 8+7 8+5  7+6+8 6 4 8 6 7 8
2 ZE 91 7+8 1 2+8 6+1 7+6 5 1 7 8 6+7 7 4
3 FafS 55 2 3 5+8 2 4 5 2 4 4 6+2 2+6
4 AR 54 3 7 3 15 2 6+3 5 6 3+6.5 5 3
5 B3 42 4+2 7 7 8+7 7
6 TREB K 40 1+7 8+4 3 1 2 2 4 3+5
7 {EE 39 5 3 3 3 2 1 8 8 6
8 mAENHXK 33 5 8 6 1 1 8 4
9 WAEFLE 29 4+7 8+7 3
10 B2XE 28 3 5 1 8+5 6
11 &R 225 8+6.5 5+1 2
12 RARELE 215 4 3+1.5 1 5 7
13 f@%0LL 18 2 2 2+4 2 6
14 fEF0LALSE 16 7 6 3
15 F k5 14 6 8
16 JbEIH 11 4 4+2 1
17 &t 10 2 8
18 &[] 10 5 4 1
19 Bk 9 1 7+1
20 i Ey 9 3 6
21 A5 9 4 5
22 H3iD 8 8
23 £E 8 7 1
24 3% 8 3 5
25 iE 7 4 3
26 AfHLL 6 3 3
27 K& 5 5
27 T¥% 5 5
27 tE&H 5 5
2] ERAKER 5 5
27 RERFHE 5 5
32 = 4 4
32 #&ER 4 4
32 g ERE 4 4
35 RECKH 4 3 1
36 1Em - B 2 2
37 Bl 2 1 1
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1 FakE5 1125 8+6 4 2 4+5 3 8 8 2 6.5 7 8+7+3  6+4+8 1 3 4+5
2 RENTEIL 81 2 6 4 2+4+1 6 4 2 4+8+7  6+4  6+7+1 7
3 WEME 65 4+5 2+7 6+8 7 5+6 7 8
4 AR 52 1 5+2 2+7 3 7 4 3 4 4+2 1 7
5 mEXHK 44 1 4+3+7  6+8+3 5 7
6 Z i 44 3 5 1 6 8 6 5+2 5+3
7 A E 415 6 3 1.5 6 3+7 6 1 8
8 EAKER 27 7 8 5 2 5
9 {EE 26 8+3+7 8
10 JbuEIE 24 3 2 2 3 6+8
11 JZAfEFa 23 8+3 4+8
12 A4l 23 1 3 4 5 5 5
13 B3R 20 8 8+1 1 2
14 EEXB 19 5 4+5 4 1
15 Jbi% 14 7 1 5 1
16 3&)I| 12 7+5
17 RESL K 12 4 1+7
18 f2&0LL Rk E 12 5 2+5
19 /& H 11 3+8
20 & i 10 4 6
21 mk& 9 3+6
22 K& 6.5 6.5
23 tE&H 6 6
23 TRERHEK 6 6
25 AR 4 1 3
26 #&ER 4 2 2
27 %% 3 3
28 3L AnfE 3 1 2
29 Bkl 2 2
30 FREEHE 15 15
31 ;&dt 1 1
31 mEh& 1 1




